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Q1  Which device can be used to measure the
density of a liquid?
(A) Anemometer (B) Bevameter
./C} Eudiometer (D) Pycnomecter

Q2 The Central University Babasaheb
Bhimrao Ambedkar University, Vidya
| Vihar, is located in which city?
(A) Agra
(B) Kanpur
(C) Varanasi
D) Lucknow

Q3  Where is the headquarters of the Uttar
Pradesh Police located?
(A) Bareilly
V) Prayagraj
(C) Noida o AT
(D) Meerut . -

3 Q4 In which year did Uttarakhand comc into
% existence?
3 MA) 2000

(B) 1991

(C) 2016

(D) 2011

:
E
:
£
£

Q5  Barsana Holi is playéd with
(A) tomatoes
(B) milk
(C) stones

.y.)) sticks

Q6  The Kampli Fair held in Uttar Pradesh is
associated with which community?
v(A) Jain
(B) Sikh
(C) Christain
(D) Buddhists

HTBATEA
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Ql &df & udcd A & frv e Suasvor
@1 IuAr fBar o |aar 27
(A) vFERieR (B) 9ariey
@) IR (D) R
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wier | Rerg 87
(A) ATRT
(B) FTR
(C) arrory
VD) &ET%

Q3 IR we¥ Y[y Bl qaierd Fel Rerd
a7
(C) Arer
(DY §S

Q4 gurrawg e af aRow #§ amar ar?

w4 2000
(B) 1991
(C) 2016

(D) 2011

Q5 “avHHT Bleht & e Wl S &)
(A) eHIeR

(B) qu
(C) R

(g
Qﬁ/ammﬁmrhﬁﬁamfﬁaﬁmﬁm
WIS g3 27
A) 9
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(C) g
(D) drg
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Q7 _is an exponent of Kathak
dance in India.
(A) Sonal Mansingh
(B) Mallika Sarabhai
L) Pandit Birju Maharaj
(D) Uday Shankar

Q8  Which of the following is NOT one of the
stages of the selection procedure of UP
Police Department?

(A) Physical Test

(B) Educational Qualification
(C) AgeEligibility
D) Language Test

Q9 According to a legend, which God

sacrificed ten horses

during

Dashashwamedh yajna perfonngd at the

Dashashwamedh Ghat?
(A) Lord Vishnu _
¥B) Lord Brahma
(C) LordShiva

(D) Gaddess Kali

Q10 Which of the follgwing i$"the highest
gallantry awardin India?
A) AshohChakra
(B) Param Vir Chakra
(C) Kirti Chakra
(D) Vir Chakra

QI1  “My Passage from India” is a book written
by .

(A) Mulk Raj Anand

(B) Edward Morgan Forster

(C) Vidiadhar Surajprasad Naipaul

oD) Ismail Mechant

Q12 World Environment Day is held on which
day?
(A) 22nd April
JC) 5th June

(B) 8thMay
(D) 11thJune

SERIES-A

Q7 UG W US A B /B D
e #|

(A) AFa JFfiE

(B) Afciadt \aRm™IE
Jc)qf%aﬁdquam

(D) Feu viwy

Q8 Fr=ifafea # & o1 wr @ gfer R
@ gy ufthar & @il § § 1o T8 2°
(A) IS geEor
(B) 9iférs araar
(C) 3y gpaa
W) e e

g tns’ 3 &3 @ T
YR W B R a9 e A afy
& o7

(a) wrar fwy

oB) WIEE qedr

(C) wram fRe

(D) 2 wrh

QI A ¥ Fegdl &1 wafewd YRR
fFrafafaa § o= W 82
(A) 3NF TF
V/(B) 9THdR a®
(C) It =
(D) &~ a®

QI "#r$ Tw wiw gf3ar”
TS Us faE 8
(A) T X9 TG
(B) veasd it WY
(C) fFIEmR IRowE Ardid
VD) THIEA Wde

g fored

Q12 favg yatarvr fRaw fvw &= w=mar i

&
(A) 22 e (B) 8 73
(D) 11 S
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Q13 Who invented the jetengine?

Q13 Gie gud @ anfaser famer fbar ar?

(A) Roger Bacon (A) A5 AFA
V/(B) SirFrank Whittle VB) W Ba e
(C) James Watt (C) SR g1e

(D) Lewis Edson Waterman

QI4 Which of the following social media

(D) g9 USHA dlediT

Q14 PyrfafEa § @ 9 wr smfore fifgar

networks is NOT a publicly listed Aead TS Aduid B9 q ﬂ?ﬁﬂ@ HA
company? e 27
(A) Twitter (A) Twitter (€faex)
(B) Facebook (B) Facebook (%¥g®)
(C) Weibo (C) Weibo (dgaT)
V(D) Quora WD) Quora (eFrar)

Q15 Which Indian state has its maximum area
under forest cover?

QI5 faw gl R REifs &= # o
fRerd &7

(A) Kerala 2 ks

(B) Maharashtra ¢(B) AW

(C) Uttar Pradesh . (C) SR 2y
V(D) Madhya Pradesh v (D) %ef wee

Q16 i the officiall€urrency of Finfand.
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3 f Q16 fpreve ot wreEE g 8|
g (A) Dollar (B) Pound D (A) SieR (B) dis ;
= (©) Rial ) D) Euro (©) Rara WA
v
Q17 Which linegdemarcates the boundary Q17 FF @ Y@ wRa 3R nfewE & 4 g,
between India and PaKistan? A1 ag s 87
(A) McMahon'Line (A) FFHIE @
A=z AB) Redcliffe Line JB)W T
(C) Madison Line (C) #fSw=1 g
(D) Durand Line (D) S Y@ §

Q18 Pyongyang is the capital of which country?
(A) Maldives (B) Mongolia
(C) Malaysia  «D) North Korea

Q19 Which of the following is NOT a state of

the United States of America?
(A) New York (B) Minnesota
(C) Louisiana  (£D) Atlanta

Q20 The people of Lakshadweep speak which
other language besides Malayalam?

QI8 wimai fw du &t woErE) 87
(A) AT (B) smferar
(C) weiferar D) IR FIRAT

Q19 Fr=ifflra 3§ & P ar waaa w1 iRt
BT U IS0 T8 8?7
(A) ~hid (B) fmrer
(C) Gefrar T D) 3fceieT

Q20 TEEW @ RN HAodieH @ Jrear gl
P @ wm Ao T

(A) Tamil «B) Mahl (A) afta v/ (B) Hed
(C) Bengali (D) Hindi (C) et (D) f&=t
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Q21 Name the younger son of Shivaji who was
also the third Chhatrapati.
(A) Rajaram (B) Sambhaji
(C) Shahu (D) Bajirao
Q22 is an ancient folk dance

Q23

Q24

Q25

Q26

originating from Odisha.
(A) PuliKali (B) Raut Nacha
(C) Dollu Kunitha ¢2) Ghumura

In the 2018 Uinion Budget the salary of

the President of India was increased to
per month.

(A) 1.5 lakh (B) %15 lakh

(C) %50 lakh ) 35 lakh

India ranks at 3rd position, behind
and Indonesia, in its annuak

coconut production.

(A) Madagascar (B) Myanmar

(C) Malaysia o) [Philippines

The handywriffen Congtitutionwas signed__

on 24th\January, 1950.by 284 miembers,
of the Qonstituent Assembly, Which

ineluded. _ £~ women.
(A) 30 ~ (B)*20
e s s - (D) 25

The Kakori train robbery was conceived
by Ram Prasad Bismil and
(A) Khudiram Bose
(B) Shivaram Rajguru
<) Ashfaqullah Khan
(D) Jatindra Nath Das

Q27 Bagruis one of the famous centres of hand

block printing in

(A) Jammu and Kashmir
AB) Rajasthan

(C) Assam

(D) Kerala

SERIES-A

Q21 frach @ B a2 & AW qard W AR

BAuf o |
WA) TR (B) wwrof
(C) g, (D) 4N
Q22 AT | U TE g
s T 2|

(A) i1 deil (B) ¥1&d g
(©) 3fq The D) ggu

023 a¥ 2018 P PAY guic # ARG & WL
® aoq wfa wE qd o
fear |
(A) 715 ol (B) 315 A
(C) 250, T Py @@

Q24 mmﬁmﬁmzﬁmﬁmwﬁ

_ IR gEARE @ g AR
I R & | o
(A) qGERHR  (B) =R
() waflrr D) fbeirdt=

Q25 24 WY, 1950 DI HRAUTT WHT & 284
wewl A gwfofaa e R EwRER
fory, fored . AfEag mife &)
(A) 30 (B) 20

&Y 15 (D) 25

Q26 FER YA FEUE B HEAT W
yare ‘fafa” ik T @ el
(A) GERM™ a
(B) f¥rmm Iors
JE) FAHTGEATE Wi
(D) g &

Q27 ¥T® # g @l U @ yRig
TR A H @ B
(A) o 3R HER
G
(C) 3
(D) @xa
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played at Lucknow’s Ekana cricket | W Refzw Hader 7 ugen sk fhde 5
stadium after its inauguratiop wasa T20 7 igaRa R & dra Well T %
3 game played betweeh Indiayand L @20 A4 wl|
& _ PN WA IR B (B) s é’
= AA) West Indies , (B) Sri Lanka = (€) steferar (D) greivg

Q28 The cash reserve ratio as on November Q28 wrdg Rurd &% gr PuifRa F@az 2018 %
2018 set by RBI is percent. # g AR aequa_ wftera ®) =

(A) 5 (B) 6 (A) 5 (B) 6 *

W) 4 (D) 7 oC) 4 (D) 7 g

-]

Q29 Hawa Mahal was builtin 1799 AD.by Q29 ®amet 1799 £, § HERTST gRI e
Maharaja 2 AT AT ol | 2

(A) Prithviraj Chauhan (A) QAR e a

(B) Rai Bular Bhatti (B) Y ger W& a

V(C) Sawai Pratap Singh ¥2) TaTE wanfie S

(D) Rani Padmini (D) 3+ afRrh H

©

Q30 Antonio Guterres, the incumbent UN Q30 wgaa W werafug geifFa v fw g
Secretary-General was the Prime Minister W B gUFE HA A7 W 4

of which country? (A) | WAB) e o,

(A) Spain vIB) Portugal (C) wifFet (D) Hirgan! .

(C) Brazil (D) Mexico i %
(¢

Q31 The first international cricket match.

(C) Australia (D) BEngland

Q3 WS argead® @ gar fde

Q32 The 2022 Asian Ca.mes_ will be*hosted by Q32 @ 2022 & URIE WA & AWEE!
> 4 ERT & S |
(A) Australia ~ ¢/(B) China (A) dfgfemr AB) 9
= (C) Singapore (D) Malaysia (C) Rmge (D) #waildran

Name India’s Chief of the Army Staff
(COAS), who took office on 31st

Q33

qRd @ 9% 3l wiw (Hisieyd) &
aM qar, foEF 31 [RWaR 2016 &I

Q33

Bcielt Rraci€ 23 «

December 2016. USHR 4T o | v
wA) General Bipin Rawat ) 9a fafda wad §
(B) General Shankar Roychowdhury (B) e v daded 3
(C) General Bikram Singh (C) w=va famy Riw -
(D) General Vijay Kumar Singh (D) wivel favr gar Rig ]
i)
Q34 Where was the 33rd ASEAN summit held Q34 AdaY 2018 ¥ 33 af ¥ R w&ieH 3
in Novermber 20182 Pl amafora faan o 3
(A) Indonesia (B) Thailand (A) g2 (B) urgaive
¢€) Singapore (D) Malaysia JO) RigR (D) waf¥rar
5404775
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Q36

Q37

Q38

7S6d

Which organ in the human body produces
insulin?

(A) Liver
(C) Spleen

I/(B) Pancreas
(D) Gall bladder

Which of the following is a non-metal that
remains in liquid statc at room

temperature?
(A) Mercury ¥f3) Bromine
(C) Chlorine (D) Helium

Which of the following elements has the
smallest atomic radius?

(A) Bromine ¥(B) Chlorine

(C) Sodium (D) Calcium

CHJCOOCHZCH; is the formula of

(A) Butanoic acid

(B) Methyl ethanoate
C) Ethyl ethaneate

(D) Propanoie acid

SERIES-A

Q35

Q36

Q37

HEa IR @1 B W AT gyfer e
Sl B?

(A) I%d
(C) faeen

vty s
(D) T

frfofRaa @ 919 61 d U A ©
S wefta aroHE oY g9 argwen ¥ IEdr
14

(A) U
(C) T

uB) arfe
(D) faferam

fFreferiaa 4 9 fa o 1 uar B
wad Ber gt 82

(A) g@ri vB) @l

(© wigas (D) dfesmam
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NUMERICALABILITY

A is half as efficient as B who is thrice as
efficient as C. In how many days can all 3
of them complete a task if B can complete
the task alone in 6 days?

(A) 3.13 WB) 327

(C) 3.33 (D) 3.36

X travelled a distance of 75 km in 8 hours.
He travelled partly by foot /@ 5 km/h and
partly on bicycle @ 12 km/h. Find the
distance that X covered on foot.

(A) 12.5km (B) 13.75 km

(C) 14.25km @ 15km

A sphere of radius 10 cm is melted and
made into a cone of height 10 em. Find
the diameter of the cone. : -
(A) 10cm (B) 20 cm.

(D) 80cm

A set consistsiof 5 eonsecutive integdrS,

startifig, from 3.\What'is the percentage
decreaselin thg'@verage of the sélthen
the greatest'integer is semoved from the

set? ?
(A) 8.5% ¥) 10%
©) 11% (D) 12.5%

Which one of the following is the minimum
sum of 2 integers whose product is 647
(A) 12 (B) 8

(C) 20 ‘P) 16

Find the least number by which 1,200 must

Q44
= be multiplied to make it a perfect square.
(A) 2 wB) 3
(C) 4 (D) 5
Q45 Find the value of:
J(_3 + J(?._',? + J(‘?_3 +64))).
(A) 1 (B) 2
W) 3 (D) 4
SERIES-A

Q39

ot

A.B ¥ amn e & o C 9 fpw
Fod 81 d A1 Porar td d fha
fost 4 gu v waA, af2 B add 1w
&M 6 fa= # g1 v waar 87

(A) 3.13 oB) 327

(C) 333 (D) 3.36

X488 H75km @t @ a@ &
a2l aifdre wu @ Y2t § km/h A A
A4 sty afirs wu @ 4Egfead w
12 km/h @ TIRY @ a1 @1 X gRT e
au @ TE W TAGN |

(A) 125kl _4B) 13.75km
(C) 4825 km — DYM5km

\ R | UG, T @y T B

Q43

Q45

' (A) @c;p

_ (B) 20¢m
@ 40cm (D) 80 cm

UF We H 3 W YE 8 a1l IR 5
e g &1 Ak de d |9 waw q9r
guifas ger fear 9R) d 39 e & 3
3 ferd wftea & & B8Rl 27

(A) 8.5% vV/(B) 10%

(C) 11% (D) 12.5%

feprferiRaa # < @1 |1 YAaw 2 Qi
o1 4 & R e o4 87

(A) 12 (B) 8

(C) 20 D) 16

gRT 1,200 &1 ¢& Qf @ 7+ & foQ

ot fsan e =feg |
(A) 2 wB) 3
© 4 (D) 5

JG +J27 + J(73 + Jed)y) &1 #F Fw
P |
(A) |

o) 3

(B) 2
(D) 4
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Q46 If ‘; =3 and 7x + 6y = 29, find the value
ofy.
wA) 25 (B) 24
(C) 23 (D) 2.2

Q47 The HCF and LCM of 2 numbers are 2
and 60 respectively. Ifone of the numbers
is 14 more than the other, find the smaller

number.
(A) 4 (B) 5
SO 6 (D) 7

048 39 candies are to be distributed to A and
B in the ratio of 4:9, how many more
candies does B get than A?
(A) 12 v (B) 15
(C) 27 (D) 330

Q49 An article_was sold for W‘BS at a s
discountof 20% aftes 2successive

marKeupsef 10%@nd 30%. Find thepst
price of thearticle. AN
A ...

(A)R500 | B2

Q50 Acloth piece was purchased for ¥600. At
what price should it be sold to geta profit
of 12.5% after a tailoring charges of T40
was paid for?
(A) 2640
(C) %700

(B) 3680
v’ (D) X720

Q51 An article was bought for ¥2.500. He
allows a discount of 12% on its marked
price and still gains 10%. Find the marked
price of the articles.

V(A) 33,125
(C) 33,200

(B) 33,500
(D) ¥3.000

Q52 In how many years will 1,500 double
itself under simple interest system of 4%

pa?
(A) 20 years (B) 24 years
|",QC) 25 years (D) 27 years
SERIES-A

10

X 4
Q46 afe = 3R 7x + Gy =29, @ y & 9

s

ST &N |
viA) 25 (B) 2.4
(C) 2.3 (D) 2.2

Q47 < weAR B HETH WHNAdE AR
FHaE A 2 3R 60 B | AR
I WeEARIT H W UH gER B g 4 14
i@ & ar 818 W s &Y
(A) 4 B) 5
“) 6 (D) 7

Q484 Mgl H A SR BT @ 39

VG o @1 ol 8 B @ AW
T 58 frad &
X)) 12 o~ vB) 15
@ 2 (D) 33

Qf5 10% 3l 30% @ A AR fafesa o
@ a8 20% &) YT UR Y@ v €2,288
¥ v | avg B ST S S| BN
(A) T1.500 (B) 21,750
(C) 21,900 (D) 22,000

Q50 HUS T (H ghsl 3600 H wirer |
fied god @ w0 A WO B AR
12.5% &1 o Ui @ forg 39 v
gR qgl S dfey?

(A) T640 (B) %680
(C) T700 ) 2720

Q51 @ awg 22,500 % @il g | GHIER
@) aifha Bwa W 12% B ge B
argafe ar & 3R fhR 40 10% A oIt
v & | g o oifd W A B

V/(A) 23,125 (B) ¥3.500
(C) 23.200 (D) ¥3,000

Q52 4% i af & WERY & yuliell @
aea fe @ A 21,500 G & SA?
(A) 20 & (B) 24 a§
o) 35 (D) 27 a4

SET-17
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Q53 21,000 becomes T1,144.9 in 2 years. At Q53 1000, 2 @ & 71,1449 & W #|

-

what rate is the principal amount HAuE WR A {6 R 9 =gl @ S

compounded annually? T Tl &7 =

(A) 6% B 7% (A) 6% AB) 7% o

(C) 8% (D) 9% (C) 8% (D) 9% =

-}

@

Q54 Aloss of 1,152 hasto be divided among Q54 A.B 3R C& €19 21,152 &1 gHaq o

A, B and C in the ratio 7:8:9, then what is 7:8:9 @ srgar # RAenfore g anfeg, o c

the share of A? A &1 e @ @7 g

tﬁ SAA) 3336 (B) %342 AAN) 3336 (B) %342 "2
. (C) 2360 (D) 2384 (C) 2360 (D) 2384 St
o 4
Q55 A. B and C subscribe to a business of Q35 A.B @1 C 3 50,000 &I SRR WA &

250,000. B subscribes ¥6,000 more than flsur B3 C @ gaar 4.36.000 s 7

C and A subscribes 22,000 more than B. fow @ A B e HR82.000 3if® 4

What will be A’s share of profit out of a few | afe & @PT 2000008 a1 @™ H o,

3 total profit of T10,000? A @1 [Reapiidhc L i@ ' .

(A) 22,000 (B) 2.500 (A) 22000005 (B)%2.500
E') (C) 23,250 wD) 24,000 ©) 3250 QA 24.0007 %e
; Q56 A grocer has a sale of 22,000, 32,500,  QS6® Sy FLaR WEH F HA: 22,000, L
3,250 and 4,250 in 4 months. How _7R2500,3,250, 34,250 31 fagh & &1 %
E much should his sale in the 3th month be : 33,5008, s Rt war oA @ fog
. > to get an overall averagé of%3,5002 wigd 789 W S fam @1 feaan @ ,§
S (A) 22,500  (B) T3S0 Y, @ffee?
E (©) %4500 G (PIR5.500 B (A) R2.500 (B) 3,500

(C) 4,500 4P) 35,500

Q57 B&Cecan compleleata_skﬁﬁ'cid days while Q57 B 3R Cua & 40 AT # qur & wabdl

HTBATEA

Bcielt Rraci€ 23 «

A, B & C can complefe the task in 20 days. & wiafs A, B3R C a8 & 20 RAT 4

In how many days can A complete the task g3l R HhHd 8| A B T8 HM fve=

alone? fe=T ¥ yr @R |anel &7

(A) 20 (B) 25 (A) 20 (B) 25

(C) 30 (W 40 (C) 30 (9) 40
v
=
=]
o
o
o
A
b
]
k-]
(]
=
(1]
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(A) 60 oB) 120 (A) 60 7B) 120
(C) 240 (D) 480 (C) 240 (D) 480
__ Y
Q61 Find the pair of the ﬂhmbersﬁ_a&%ﬁ}d C QBJe iR @ N s Y, o 39 Yed i %
fit into the pauem _ : . ¥ augad sl |
g 711, 8420913, 10,14,99 711,812,913,1014,2°? ,ﬂ'
> LTS (B) 1014 W) 1115 (B) 1014
= A (C) Thi4 (D) 10 15 (C)1114 (D) 1015

Q58 Select the option that is related to the third
word as the second word 1s related to the

Q58 39 e &1 999 &N ol JRR & 9
S UPR 9 Hdfd & o9 YN ¥ ugdl

first word. v IR v | wafda 2

MUSIC : SZWLE :: CANOE : ? MUSIC : SZWLE :: CANOE : ?
(A) IFRSG (B) IERRG (A) IFRSG (B) IERRG
t) IFRRG (D) IERSG “C) IFRRG (D) IERSG

Q59 Find the missing numbers to complete the

Q39 =l sjwen & @@ w7 @ R
o HERit B e B |

given series.:

9,16.24.33.7. 54,7 0.16,24,33.7.54, 7

(A) 42:65 (B) 43:65 (A) 42:65 (B) 43:65
W(C) 43.66 (D) 42:66 JC) 43:66 (D) 42;66

Q60  Find the missing numbers (X and Y) in the
series and find the value of Y/X:
10, 10. 20, X, 240, 1200. Y

Q62 "Which of the follewing options scrics is
built on theSame logic as :
C,WfL O
(A) L,O,S,U,X (B) L,O,5, VY
(C) L,O,R, V.Y @) L,O,R, U, X

Q63  Fill the missing letter in the given series.

Q60 s A gt ATy (X 3R V) s @
'u’ft Y/X w1 "1 s . &Y
1001 0,20, X, 240, 1200, Y

Q62 fRy w1y Read § A o= @ yaar &
aa = sjaer & a@ & wmE 27
CELLO
(A) LLO,S,U, X (BDL,O,S, VY
(C) L,O,R, V.Y W) L,0,R, U, X

Q63 T e N gwl eR & ggart &Y |

A.A.B,E? A.A.B.F?
(A) W wi) X (A) W s/B) X
Y (D) Z Y (D) Z

Q64 Which pair in the options will complete

Q64 Rl § 4 @l Y FloRad sjaer

R
o
o
+

=
=
=
®

(R
e

»

Q

%}/
4
8
4
A
PL)

plble

Bcielt Rraci€ 23 «

siaded 1531 [9POIA «

the following series? B R FT?
AZ,YB, WD, AZ YB, __, WD,
¥A) CX; VE (B) CX;EV ¥A) CX; VE (B) CX; EV
(C) CV; EX (D) EV:CX (C) cv: EX (D) EV; CX
SERIES-A 12 SET-17
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Q65 IfAxBmeansAistobesouthof B:A+B Q65 afx AxB@1 3l & A, B aféiwr 4 & S
means A is to the north of B; A % B means A+B @1 3% 2 A,Bd Saix A B 9
A is 10 the east of B; A - B means A is 1o A%B 13 2 A,B% qd 4 & A-B o
the west of B: theninP% Q +R-S. S is sTaf 2 ARBDuURER A& @ P%Q =
in which direction with respect to Q? +R-SH Qb waw A S frw fgwn # 87 @
(A) South-west (A) eféror—uf¥es £
v/ (B) South-east 9{ gidor-d =
(C) North-west (C) Seer—uf¥as §
:ﬁ (D) North-gast (D) SwR—Ygd sy
I Q66 One morning, X starts walking towards Q66 U gas, X A G P IR g1 LS g
E the sun, then takes a right. then takes 2 fra, fe < avw FsT, fhR AR 2 o
consecutive lefts. Towards which direction ar 4| qeT| 34 8 fea e A T 4
is the walking now? @l 8? A A
w(A) North (B) East o & T (B) g e
; (C) West (D) South Q) ﬁm W (D) &fdyor %
E') Q67 A child went 90 feet in the west to look QB4 T S0 Rge®l e &R @ -
> for his father. then he turned right and went ) forg ok f.90 Wi a1, fR 9% QN v
E 20 feet. After this, he turned Fight and Sl Myt 26 Pe AT | THD 91E 8 %
walked 30 feet to reaqhﬁ?éﬂnc&*g\hogsg 4 Eﬂ;g‘-‘-‘?’ﬂ? 320 Wie dH & 1< I’ AT
3 His father was N@Tthere. From thefe'he . & uY ugdn | 9ua far st T o) 'ﬁ
& went 100 fedtito hissouth and met higy gei ¥ a8 v § 100 Wie TAT AR
E = fatherHow far did he meet his father from s faar & fiier | s @ | a8
the startifig point? ( v’ g fen & el gx e b
(A) 140 feet (B), 110.eet (A) 140 T (B) 110 ¥ gf
(C) 120 feet D) 100 feet (C) 120 Wi @) 100 Wi
= Q68 X walked from pointAtoB. Hetumnsright Q68 X, ffg A9 Ba® e | fiw a8 3N %
and walks 17 feet. He again turns right 78T 3R M 17 $Ie dorn| 98 e ¥
and walks a distance which is equal to that T 791 3R (e gl dd =, Wil {6 A §
of from A to B. He again wrns right and ¥ B® a8 @8 v @ qg ger 2
walks 9 feet. How far is he from the 3Tt 9 WiE dalT | 3 a8 Yo fig @
starting point? faerm qu 27 é
(A) 7 feet (B) 7.5 feet (A) 7 B (B) 7.5 WC -
JK) 8 feet (D) 9 feet @ 8 wie (D) 9 Wi ‘_£|
®
(o d
S
®
)
SERIES-A
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Q69

Q70

In the question, one statement is given,
followed by two conclusions, land I1. You
have to consider the statement to be true
even if it seems to be at variance from
commonly known facts. You have to
decide which of the given conclusions, if
any, follows from the given statements.

Statement |: Domestic demand has been
increasing faster than the production of
wheat.

Conclusion I: Domestic demand must be
reduced.
Conclusion 11: We should export wheat.
(A) Only conclusion | follows

oB) Only conclusion 1l follows
(C) Both I and Il follow
(D) Neither I nor Il follows

In the question, one statement, k m
followed h\ two Wumnnts | aﬂd‘! You
have to cel

“decide which of e given arguments, if
aﬁ)?.xippons thc given statements,

Statemént Should mid-day meals in

government schools be stopped? |
Arguments |: No, it provides at lcast one
meal to the underprivileged childern.
Arguments 2: Yes, it provides a wrong
incentive to attend school.

o(A) Only arguments | is strong
(B) Only arguments 2 is strong
(C) Both arguments 1 and 2 are strong
(D) Neither arguments |1 nor 2 is strong

SERIES-A

sider thestatenight fo be tetle
evenrdif it SMS to be at variange from
commuﬂty kn@wn facts. You, have to

Q69

g9 ¥ U S 3N SUD a8 QT ey,
1 3he 11 Ry u &) sirue 3 S B
F A &, A & UB A dR W
e el A e gdid B 8| A
ag au & & b fRu my Pt 4 @
arHar ferd, afe #18 8, Ry 17 e
&1 T DXl & |

U 1: T & TR B ot § TED!
e Wi Aol 9 98 v 2|

sy |: B AP &W @ WE ARy |
e 11 g 18, a1 Frafer e aifde |
(A)@dadt [Aspd | 3ol aﬂaT%

S B e 11 Y e @

(@I 11 S ST R §

'_tDmﬁlsﬁv1ﬁ 11 SFTEROT el B

* Nz 2 Ru v | IUP W BT B

m#w $U 3N IES 418 A TqB, |

Hed WA 81, Ml €1 UE 3 R W
ST aeal § arer wdld Biar &1 g
I8 du T & 6 Ry ay dof § 9
T 9o, afe a1E 8, Ry HuEl &
ARV AT & |

Fud g e e 4 fRar wM
are WeETE Ao dg e AT S
TRT?

o | «8], ug dfaa gl & T A
U §HT B WG Y Bl B

aF 2%, U8 W A W @ fog Terd
QIeaTEs WaTH el 8 |

JA) DI D | AT ®

(B) ¥a % 2 TIeigq @

(C) @@ 1 3R 2 <FN worgy &

(D) A d a@ | 3R A & a@ 2 900qd 8
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Q71

Q72

Q73

LIVS6d

e - SR, FAR, TAPRIS 9 FER

Q74

HTBeTEA

Q75

v/(A) Dictionary,

In the question two statements are given.
followed by three conclusions, I, I and
[1I. You have to consider the statemcents
to be true even if it scems to be at variance
from commonly known facts. You have
to decide which of the given conclusions,
if any, supports the given statements.

Statement 1. All the students in a class

are bright.
Statement 2 : X is NOT bright.

Conclusion 1: Some students are NOT
bright.

Conclusion II: X must work hard.
Conclusion [11: X is NOT a student of that
class.

(A) Only conclusion | follows

(B) Only conclusion Il follows

) Only conclusion I1I follows

(D) Neither of the 3 follow

Which of the following words does NOT

have its letters in an alphabetical order? W
.,(4\) Blank

(B) Alloy

(C) Empty (D) Begin:

Which of the follB\ving Words Sar be

formed froniithe letter: ydcinratoi
_ (B), Directory
(C) Direction |\ (D) Doctrine
Select the option that isrelatedto the third
word as the secog-wérd is related to the
first word. '

Rooster ; Hen :: Stallion : ?

(A) Horsc wB) Mare

(C) Foal (D) Doe

Each one of the following options consists
of pairs of words. Choose the pair that is
similar of the pair given in the question.
Writer : Book

(A) Painter : Brush

(B) Sculptor : Stone

WC) Potter : Pot

(D) Dancer : Shoes

Q76 Select the option that is related to the third
term as the second term is related to the
first term.

AB:NO:KL:?

(A) WY AB) YZ

(C) WX (D) XY
.+ SERIES-A

Q71

15

Q74

Q75

b ) Blank
= --._{C) ﬁfrupty

yee # 31 @A 3R IuSD e A Frepy,
I, 113 1 fRe v & 3yt §9 HUH]
FT | qEAT B, dr
W g aedl W FdT wda & &
3BT I8 9 BT & b fau

§ 9 e P, af 2 ¢, Ry
G @1 AFE Bl B |

For 1: HaT A wf oA & §fE B @
o 2 X dia 3fe @1 781 81

frepd 1 g5 B1F @ 4fg & 581 ¥)
frepd 11: X & $ AgTd S 9t |
frepd 111 : X 91 Fell &1 uiA T8 8|
(A) ;ﬁ%‘;ﬁf@?&lml 'cmm?%
(B) frepd 1) SgRRYr

& &5 o

# Pt 22
(B) Alloy
(D) Begin

F=fafea el 7 [ B TR
ydcinratoi 3Rl & a1 W1 WHAT 87
(A) Dictivnary (B) Directory
(C) Direction (D) Doctrine

9 faoeT @1 g X o ey s o
I B | Hatd 8 Ry yeR | usen
T g U W A B

i - gt o o ?

(A) °rar (B) €1

(Cy O @1 gan (D) favell

fr=rfafaa Aol § wW@e § <] &
W2 &1 we A Ry v §R @ 3 @/
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Q77 Which of the following answer figure Q77 Fr=fafla # & 9 & s anply & 9
patterns can complete the series given in e yet angfd # & 1 sj@en &1 g o
the question figure? ) |Har &7 =1
P < o] =

A - | A | S
_@® | & | | 2© | A | =
&

@

v
121

A B) (A) B)

P09 v e o e v|"’lig 4 .
(© Al ) & O M © A o,

|

Q78 Which of the following answer figure Q788 fftafaa 38 25 O awr angfa @1
patterns can complete the serigs.given in e yer anafa # & e sjwen & g
the question figure? &Y el 87

0|[A o] ] ol|la ol
A D < i ’ A O o
5. W\ ' [ - ol

Y

I
Bl 51 «

LIVSed

e - SR, FAR, TAPRIS 9 FER

v
Sy O . - O A ;5}
A (B)
(A) 2 0O (A) & (B) 0 %
A ' d A O
y > | O | o | o
o | - D) | A | ¥ (D) | §
& = l a I._’ﬁ_,__,..,.

Q79 What is the minimum number of lines Q79 € 7% BfY T & fory =W fha é
required to make the given image? G H TN B 8_
)
o
A
v
)
S
o
n

"‘g) }g ‘g) :2 V(A) 16 (B) 13

© (D) (C) 15 (D) 17

SERIES-A 16 SET-17
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Q80 If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

G X

N,

© K e K
(A) (B) N
D

M ® )

(©) ) N \

Q80 af2 & gdvr ) @ MN TR &1 741§,

Q81 A piece of paper is folded and punchedas™

shown below in the question figures. Fromy
the given answer ﬁgﬁ%s,"ﬁldim-how i
will appear wh:n cpened

LIVS6d

(A)

.(,B)

PaN
(C) gb

Q82 Arrange the following words as per their
order in an English dictionary and choose
the one that comes first.

Voyages, Voucher, Volunteer, Voltmeter
(A) Voyages (B) Voucher
(C) Volunteer y),) Voltmeter

SERIES-A

(D) 7
J NN -

17

dl B W I IPhA & TE G B
uél sfa 87

e X

e X

(A) /\T \

| 4]
(Chy

Qlﬂ ma@ﬁf#ﬁaﬁmmma‘a

THS@) Pies IR ve far mar 81 @
T Sax Aepldl &, sho W bW
W 9 ) ge e g <)

it N

— — = [
NI A
A | AN | B |97

RO N
L0 Il L

Q82 frafafea sl @1 sl vedw B

AR W X IE vE B g W
Hed gEel QAT |

Voyages, Voucher, Volunteer, Voltmeter
(A) Voyages (B) Voucher

(C) Volunteer JD) Voltmeter

SET-17
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Q83

Q84

Q85

A series is given, with one word missing.
Choose the correct option from the given
ones that will complete the series.
Ethnic, Icebox, Oxen, Entice, ?
(A) Chronic (B) Obscene

C) Century (D) Forgetful

A series is given. with one term missing.
Choose the correct option from the given
ones that will complete the series.

EDC, GHI, MLK, OPQ, UTS, ?

(A) YXW (B) XYZ

(€) zYX V(D) WXY

A series is given, with one term missing.
Choose the correct option from the given
ones that will complete the series,

Q83 <t T A F v ww g ¥ Ry

VC) Century

m
Rl 3 & sfo Rawes gfy st S
&1 gol @wen &)
Ethnic, Icebox, Oxen, Entice. ?
(A) Chronic (B) Obscene
(D) Forgetful

084 fﬂ:rém'hﬁqasq-crqwr%rfﬁt:w

Q85

Raedt % 9 3fe Res MY @) sy
@1 Yo avar &)

EDC, GHI, MLK, OPQ, UTS, 2

(A) YXW (B) Xyz

(C) ZYX D) wxy

& g A Wwe gz g #) Ry T
R Mg Ry Racu afio o s

WWWWWM, WWWWMW, WWWIW WM, WWWWMW,
WWWMWW, WWMWwWwW, _-WWMW%_::W‘MWW\\&
WMWWWW, ? WMWWWAY, 2

(©) MWWWMW_(D) WwWwwWiyl

AA) MWWWWM M) Mwwwww

© MWWWMW (D) wwwwww

R
o
o
+
=
%.
(R
e
»
()
n
s
4
8
4
A
PL)

g -
= P % - : : | ’
> Q86 A series isgiven, with ofehumber missing™) Q86 < ¢ 5 ¥ v v gw & Ry T
= Chmséﬁf@p corllégﬁl option from tﬁtéﬁcn .' Rsedt A 3 sfaa Raeg gy it sl -
ones lhaf')ﬁ'-jll complete thdgeries." a1 gof @ &
108,897,238 ¥ -10.8,-89,-7.2, 32 g}
(A) 49 o (BY-53 (A) -4.9 (B) ,-5.3
(€) 4.7 o VD) -5.1 (C) 4.7 V(D) -5.1 %
S Q87 Ifthe dth day of a month is Friday, which Q87 af¥ =it #€r) @1 ey Ry YhdR B,
of the following would be the 3rd day after ar Frefefa # @ ar fa o e
the 25th day of that month? % w9 & ae @1 dew R
(A) Wednesday W) Tuesday grm? v
(C) Sunday (D) Monday (A) gEaR o) Frerar 2
(C) ¥Rar (D) SHaR %
Q88 A series is given, with one term missing 088 & E AN § va y= ga 2 fy 7y §
Choose the correct alternative from the et # 4 s fwey AR A Bl '.;
given ones that will complete the series. qof &Y | -]
G227, X3H7,15V7, T719, 2 G2Z7, X3H7,15V7, T7)9, ? ®
(A) LIORI2 (B) K11S11 (A) LIORIZ (B) K11811 h
) KI1IRI2 (D) LI0RI11 oC) KIIRI2 (D) LI1OR11
SERIES-A s SET-17
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Q89 In a code language, 972 means “steel is Q89 fadil @ wrar # 972 @ 32 B ‘steel is o
strong’, 298 means “iron is strong” and 387 strong’, 298 @1 31* & “iron is strong’ 9
means “iron and steel’. Find the code for 3R 387 &1 31ef  “iron and steel’. *and’ o
‘and’. & faw ae sma &) :_)—_
(A) 7 (B) 8 (A) 7 (B) 8 ®
(€) 2 JD) 3 (€) 2 S 3 g
Q90 In a certain code, WANT is written as Q90 fa=ft fady e, WANT @1 4715 forn o
'ﬁ 4715 and COPE is written as 2863. How o & 3R COPE &1 2863 ferar sman LQ_},
g is NOTE written in that code? gl L G T # NOTE &9 ferar SIr? é
o (A) 2384 (B) 8118 (A) 2384 (B) 8118 ©
W) 1853 (D) 9890 W) 1853 (D) 9890 9
Q91 Ifinacertain code language. *+" represents Q91 afk e RN He Ml H 4+, 0 @ A
‘%7, '  represents ‘+’, “ x " represents * =’ [T et 2RO Ahuvga @var B, gL
) and * + " represents *-*, then find the value S, IR R B AR L0, '
E') of the following expression. U PYALE, o P sifafi 3
8+4%x2-9+3 JPESE TTa X |
> (A) 20 (B) 12 B8+ 4253 f
E’ JC) 33 (D) 15 (A) 0 - (B) 12 %
a *;) a3 (D) 15
: Z Q92 IFCENTAUR Meoded 88ACLRYSP, thenf®, Q92' @R CENTAUR @ ACLRYSP 3Rl @2
E o how wilBHOP beeoded'as? 4 ag fdHar oirar 8, df HOP &Y 59 ™R
’ (A) BGD: ‘WB) FMN T ag fear sme? v
(C) WSX (D) RFVA (A) BGD v(B) FMN %
(C) WSX (D) RFV
,E Q93 IfA@BmeansAisthesonof BLA#B Q93 IR A@B®I3ef 8 f A,B&HI 47 2, %
means A is the husband of B and A * B A#B® 3 B 1 A, B @I Ul 2 3R
means A is the daughter of B, then what A*B®l 3 8 fb A, Ba g &, §
does P @ Q* R#S mean? P@Q*R#S® Far aef &?
(A) S is the mother of P (A) S.P @ #i & -
(B) P is the grandmother of S (B) P.S @I Trdl 8 =
(C) P is the mother of S (C) P,Sa #Hf & 8
WD) S is the grandmother of P WD) S, P! TA & %
)
Q94 IfP % Q means P is the brother of Q, P!~ Q94 R P% Q&1 3ef 2 & P,Q &1 ¥ ¥, %
Q means P is the mother of Qand P * Q P!QaI 3ef & f5 Q& #i B 3R %
means P is the son of Q, then which of the P*Q@ i 8 I PQ@T yz & @ ]
following shows that C is F's mother’s fre=ferae # @ar gafar & f5 C, Fan i @
brother’s son? ® W BT YF 87
(A) C%D*E!F(B) C*D!E%F (A) C%D*E!F(B) C*D!E%F
(C)C*D%BE!F@)HC%D!E*F (C) C*D%E!'F@ C%D!E*F
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Q95 C said to D, “You are my sister’s Q95 CH D¥ @er, “qH W awT B ufy B

husband’s father-in-law.” How is D WX Bl D, C 9 9 avg waig 87
related to C? (A) D.C %7 Tra1 2
(A) D is the grandfather of C (B) D.C &7 u9e &
(B) D is the father-in-law of C (@# D.C @ fiar 3

‘Q) D is the father of C

(D) D.C%# g3
(D) D is the son of C

Q96 In the following figure, the square Q96 Frmiferfae amspfay g AT
represents psychologists, the triangle &1 gefan 8. By vargafaei & =
represents chemists, the circle represents 8 g AIfast at qufm g o
actors and the rectangle represents HAATER AT BT guiar & | s =

mothers. Which set of letters represents @l A W & Warel & quar T =
mothers who are NOT actors? sl g2
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e
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4
8
4
A
PL)

alblch

&7 T ‘
B H 6

Y

b2k 33k «

(A) B 4 | - (A) R

v(B) G G
(C) D+E ' (C) D+E
(D) Bi@ - (D) B-C

LIVS6d

de - S, AR, FAPRI 9 #6R
)
N

Q97 Which ofithe following Venn diagrams QY7 Fr=fafg § ¥ o @1 a9 amw
best represents the relationship between THEN, WY ik g @ e =
herbivores, wolves and tigers? WY ®] WY arew] ufar &7

Q Q
(A) OO (B) (A) OO (B)
O
5 %)@ O

HTBATEA

Bcielt Rraci€ 23 «

sJaded 3531 [9POIN «

D O
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Q98 The given line graph shows the record of
number of tickets sold at the theatre
counter on the first 6 days of a show. On
how many days was the number of tickets
sold less than that sold on the previous
day?
| 5 e TH00 < e
| i T pen
(A) 3
(B) 1

) 2
(D) 4

Q99 The given bar graph shows the number of°
employees working in 6 departments ofa
company. What is the différence between
the number of employees of Depattiment
E and Departinent G2

! B -4.7.‘.. ) o _m
| £
| & e
| E e
| E 1
| i ? A B C -] E r
i Department
(A) 50
) 250
(C) 150
(D) 200
SERIES-A

Q98

Q99

fear T Y@ INw M @ ygd 6 faat A
ey Hraer W a9 T feHel & W
o1 Rare e 8| fes R o< o8
fewmel o aE s fom 9 18 fewel
3 39 o7

i ————

1=
1080

znh 200
. o0 '
_;--.:n"

)
i

(A) 3
(B) I

2
(D)4

fear i aRmeE & U @ 6
e &f @3 el eHERal A
ST Bt qutar 2| e E ek favm C
& svaifRal & e ¥ e w87

\g.))' 250
(C) 150

(D) 200
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Q100 The given pie charts show the shares Q100 f&ar war uig =@ ad 2017 3R 2018 &

:
)
8
owned by the four partners of a certain forq el o & ar wriiert @ wifia +
company for the years 2017 and 2018. aret IRl @ e g 2
The company had issued 1000 shares that T T 1000 TR S R &, e 5
are now owned by the four partners. B Wil e A gR 9EeR £ BA 3 2
sold some of his shares to A and C. If A &Y T AR C @ a9 Ry afy A O
paid ¥2,000 for each share, how much did s 9 & fAy 22,000 &1 a
B receive from C for the shares sold to faran o, @ C @1 @9 TU IR @ forg B 3
. c? &1 C & a1 ram wra g3 gy
o : 4
Year 2017 Year 2018 af 2017 aq 2018 E
a .
. 0%
. N S :
1 (A) 750,000 (B) 21,000000 (A)%50,000 (B) %1.00,000 R
(C) 32,00,000  (D)X3,00,000 Wy, (C) 32,00,000 (D) ¥3,00,000 %
Q101 Which word/@0es NOT'elong with the Q101 F AT UL I T&T A AAT 87
' others?” | () s (B) gt /
% L(A) Fal )\ (B)Sad |/ (©) gu (D) IwfRa
¢ b (C) Happy (D) Excited é
Q102 Find the oddletters from the given Q102 fRy 7y faswedt # & Ry 3w g |
alternatives. MORU (B) CEG
. VQA) ORU (B) CEG (C) IKM (D) UWY
y (€) IKM (D) UWY
Q103 Choose the figure which is different from Q103 TH B @ ﬂ_} Sl A &W | §
the rest. e B |
[ o— ¥
X X X F %k o [+ % + §
| 3% ¥ o
(A}+++ (B) X X X (A) ke ol o (B) :IT( X o
X 4 X + 3 X -+ X o, i i o
] =
X X + + T+ X X 4 iy gy o
XX X ®
+ 35X + x + + X X + X+ v
SERIES-A 22 SET-17
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Q104 Choose the figure which is different from

the rest.
X Q A ‘[xoa
(A) V M| (B) ’.W E Y
Ewo| |[MvVva
iV'OF"' vay
i [ & Y (A WE
|WAQ E MO

Q105 Select the related word from the given
alternatives.
Wife : Husband :: Bride : 7
(A) Marriage (R) love
(C) Man D) Groom

Q106 Select the related number from the give 1
alternatives. 2 :

E 23:8:34:7
Sowe . s 8
S o' D) 36"

Q107 From the given answer figures, S€lect the
one in which the question figure is hidden/

Q104 TH anpfay & g Sl ara snpfoar |

AT B |
!XOA] X 0 A
s 1Y YM!(B} WE Y
leol .LMVQ
VOF| [vay
v (M X Yip |[AWX
‘W A Q EMDO

0105 e 7 Rl sdl v o1 a

@ |
(A) R - (B) @@

() e ) G

Q106 feg, o Rzt F & vl i

- 23’8 :34:7
W(A) 04 viB) 81
() 25 (D) 36

Q107 € ¢ IR AHAAT H |, I¢ (& B
g7 o forad we angfa Fifda 21

R
o
o
+
=
=
=
®
(R
e
»
Q
s
4
8
4
A
PL)

plble

Y

B2 521 <

Bcielt Rraci€ 23 «

embedded. :
N 71 AY .
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Q108 Which answer figure will complete the
pattern in the question figure?

—

/ﬂ'

a

(A) P “‘\?/
© (D) 9’

Q109 Which of the following answer figufe
patterns can be combined to.make the
question figure?

[]

uge” udj
> ]

O

A ‘ ]
(A) | -]IF_T.II '
i

o P
v | :jﬁ i %
wBP P F

|

LIVS6d

HTBATEA

SERIES-A

Q108 &1 ¥ IR INPhY we By # Vet
& g Hefr?

/ﬂ’

(=}

ks 11
(A) JB) Jre ]
(C)-&& o |[H ;]

Q10mfEfaRe 448 # N oar argfy @
Yedra! W7 el a9 & fag e
ST A 87

U HF

(A) L1 L

(B) %%mfﬁ
"‘“1:'@ Hj%
o BFf P
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Q110 Which of the following cubes in the answer
figure CANNOT be made on the basis of
the unfolded cube in the question figure?

_I.I._
L %
O]

© |

Read the following information to
answer the given 3 questions (Q111 to
Q113)

Following are the conditions for awarding
25 lakh compensation0 a farmer for 1688
due to flood. -

A) The farm affected by flood should be
atleast of 5acres, but NOT more than25
acres. X ' ) .

B) The flooded farmshould be atleast 2
feet under water for atleast | week.

C) Other income of the farmer should
NOT be more than 20,000/ month.

D) The farm should have standing crop
at the time of flooding.

E) The farm should be uninsured.
However, in case a farmer fulfills all other
criteria EXCEPT-

1) C above, any subsidy received can be
, excluded from other income.

2) D above, if harvested and crop was
submerged in floods then only 2.5 lakh
will be awarded

3) E above, if insured and insurance
claimed is less than ¥5 lakh, then only
difference will be compensated.

LIVS6d

HTBATEA

SERIES-A 25

Q110 S i # fw v & ue Arpfa J

Bl §U U @ MR W AE AT
Haar &7

@ ;»},=4

4(:&61
(A) | e {Z(B}: A
vV ily

z

R AL ST QU Qu3)
S o @ foay Feafafea smert

) e & qie 9§ Y TP @

A a3 for Ry o A s W @
e @ for et o 8

A) a@ ® gRT wifad 89 9 Wa @l
9§ BH 5 Ths, Afd 25 THe A
s T8 B Ry

B) dRU WA &9 W HH 1 WA Tb
3R B ¥ FH 2 Ve g F g@r e
afRy |

C) fpam &1 3 Sl ¥ 3™ 320,000
e ¥ e T8 8mr Ty

D) AE ® WHA W ¥ @S BEA BEN
Tfev |

E) @a & dmr & 8 aifeg |
gIeith, afe Prg fam =1 o Blgdv
= Wi AFES B Q¥ deal § |

1) ¢ SR, =D N gor @ A
areh g 3 I ¥ Frar § s
2) D Wi, afe wad B Ferd g 8
aoT e g A g 8« dad 2.5
g € Ry S

3) E 9w, afe @ifva afd sk 4
g1aT TS @G A DH B O DI IR D
auiay g faar g |

SET-17
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Based on these criteria and information
provided below, decide the course of
action in each case. You are NOT to
assume anythings.

Farmer X has 30 acres of farm of which

15 acres was under 2 feet flood water for

10 days. The farmer’s other income of

25,000/ month includes ¥6,000/- month

subsidy. The farm had unharvested crop

when it was flooded. The farm was NOT

insured.

(A) Award 5 lakh compensation

(B) Award %2.5 lakh compensation
«C) Award no compensation

(D) Data inadequate

Q112 Farmer Y has NO other income. His 108" §112,

acre farm was flooded for 8 days under

two and a half feet of water. The facmer
receives NO subsidy and the erop was

standing at the tiffie of flooding..
WA) Award®5 lakh compensation
(B) #Award 2.5 lakh gompensation
.(C) Award nogompensation
(D) Data inadequate

Q113 Farmer Z.h# 220,000/ month other

income. The crop was harvested but was
lying in the field and submerged during
flooding. 10 out of 15 acres were under
2.5 feet of water for a week. The farmer
has claimed zero insurance.

(A) Award 5 lakh compensation

94 Ry 1y g9 weEsSt iR oEEd @
IR W YD qHe § Hrdard H1 o
o Y B N U AY H HA AL
T |

frar X & ur 30 s Wa & forad 4
15 s 10 39 @ 2 ¥ urh & i &
fam @ a1 g # ¥25,000 wfy A
P g o 6000 wiy #wE Be W
o 8| W9 & 4§ 9@ a2 T B
N werd 78 g2 ot @a & dm &
far mar o)

(A) 35 ora Hamaon f&ar sy

(B) 2.5 oG H3mawn faar W

)) MFS raghar 2

o Y & s dd Ay A8 § | I

10 Ugps Bl # 8 et ao arg ang o
Iwy @1 Wi urHl # gar g3 |
e o o1 ge TE A ok a1 @

T vad @ of |

(¥ 75 A ST A S
(B) 22.5 &g Hamgwn far o
(C) ®¥ Hamas =181 faar smem
(D) 3iiws ryafa 8

fam Z & 3= 3 220,000 wfewme
B | HHd 3 Ferd g8 o W e W
HoflaiRag dga g1 15 (@S H A 10
Udhs Wd U T8 Td 2.5 BIC I @
3y @1 fam 3 i @ PE @
& frar &1

(A) 75 @rg g faar sy
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oB) Award ¥2.5 lakh compensation ) 2.5 @@ gamaan fear wm =
(C) Award no compensation (C) & wpamaw & faar sy 2
(D) Data inadequate (D) 3ifpe srvafe & =
- -
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Q114 Prfifaa we ¥, o fawedi 7 9, faw
1o ez B WS wAW arel fAdey
gt |
U
(A) 7% & & # forad
(8) = & R ¥ forad

o aror e & R
(D) o & W A Rrad

Q115 Prferias wedt #, IR faded Ry ¢ 8
Rrd ¥ 99 Reey &1 981 &} o
T / didkl B HaH JoT TH T fame

gl

e A g AT

(A) woia (B) quwdl
(g Framare (D) 3R

:
E
:
£
£

Qu?ﬁwr%faamﬁ,-mﬁfﬁﬁﬁﬁ.“ﬁ
Hdl HNE I gEaiy |
JAET A B Sl |

A (B) A

(C) gfa (D) @l

HTBATEA

Q118 A Ry 7y yet 1 Wl Rieed wEItTY
ol @1 aar aed g 87
! (A) S W S8
. it @ IR
(C) Rt @M &
é (D) Rraar & &

SERIES-A

Q116 Frefefaa we #, ar Ree Ry & B
Rt & @ v Ry 7Y gepRl v P

Z o1 g aef ¥ S g G
= ga : A
VAA) FI WB W Ty W
(C) wdw (D) TR :

Q119 Frffaa we ¥, g w4 9, Ry
Ty arga &1 Gd e aren e
qgart= |
o et &l |
(A) TMI dcHiA BTt
) TP A e
(C) | AfAw Hret
(D) Tt

Q120 Preifafaa wea #, R Rwedl # @
Foda fFar &1 STERVT YEAIAT |
(A) BRI &9 7@ B
(B) fufsdi vs <& 8¢,
() X 9T @ ¥\
D) e awf <8 &),

ol Frafiferg, e ¥, o Rgerfe o §

MRy fage graa o W Ry
Ty s g1 wErgfedT I ¥

L~ (AYge (B) #ERTSI

_g;)’mrre (D) aredme

Q122 # Ry Wy wm @ T IEITA WY
are faded g |
fafear
@ Tt REIERIN
(€) fafsai (D) ferer

Q123 Fy=ififaa we #, R fawedi # 9, 59
FE ey @1 oaT PR Ol —

gof waR & WErgeT ¥ 4 WK % /1
el oar 89

(A) & T

(C) aofwre (D) eaff

Q124 Prafafaa wem ¥, ar Rraedl # 9, 99
w8 Raey o1 9a B o a8 -
@i @ W@ Wea R & fay feu
g @1 SyavT fear w87
(A) IER (B) ergTfe®
(C) & (D) ¥R

27 SET-17
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Q125 fr=fafia uew # ar el 4 |, W
TE | 99 aren wE AN v arer

Ree gfit)
MBS
(A) vReds  @f ufteremeh
(C) ufFRwas (D) wuaw

Q126 F=ifelRea yem #, Ry v Rt § 9
[@ifhd TR & MR G FdAW D Al
NS B YA |
Tg e e amar &)
@ e aram wdam

(B) ¥ drad wdATH
(C) = arad Hd+m
(D) Fare®s wd=mg

Q127 sriraiiz SuraTy gﬁsnuaha?rwma_- o

TAT P AT 87
(A) s=AT (iB)fhunam‘
(C) W yarg (D)&mg’w

0128 PRl DA T2 €. .

w ey B g BN o qang e
Wﬁm%ﬂmmmaﬁﬂ
N 4

(A) W _g ('B‘iﬂmsnﬂa

(C) FeREW (D) FrEH

Q129 Fr=ferRaa we &, o~ Rl 4 |, 9y
T8 RFey 1 9g7 o3 o a2 5 —
= ® o1 W dveE gr R =
Tl &7
(A) T Mg

AB) Mamfa=
(C) T §RT & Ug
(D) TE& A

Q130 wrE=elter aqddl ®1 fdw @ & fog
wifew spred qredr fear war o
) BaRft (B) awdwr
(C) g (D) #ren

SERIES-A 28

I Ry T v @ 9w 5 g
Q1319 Q135) Ry M &) 39 ey
@ AFAYES 93 IR AR Rwedt § A
TS Y P WAl Sea¥ g |

IRE L AT | Y & awE B s
e e el o7 | ok gEH Ao ft 5w
T A o & A R T Y ) T
aifedt F Y B wEE o & oo
denfral & wagnr wv A @ ek 3
IR-TR Y&l WS 37 g A &

amafns TRD ¥ 9 T A TD B
F aiiiRmere) @ om daa gar

FIYE | Trar BLERER, o, o el

-ﬂ%ﬂmm"'ﬁaésmwaﬁa'm

Wmma‘mﬁahwaﬁ

-_m&u‘raﬁw‘i—aﬁﬁqmaﬂﬁ% aTyet

& @ 9% W gold dget A & | WPhT
I R di<d @ soe e 2
a1 & 3=d B sicrEnT o @ arg
& B AT 3R 3T HET BN | T
&1 7' A e S 9 v @ U a9
Farva, aifife iR swdas e fer |
g IRl & @ § A9 R ggt @
AP Beft vl (g g wnfa
g1 B AR B UR v QR IR F
Bell | & denfa Rt ¥ ashiftig
(1844), RomerfiE (1873) T W R
i (1904) & =191 A9y w9 | IeorE-
8 | angaar 8 a1 PifcarREaar, gfife
&1 a1 Frewd, e e g2 g
§ e wae & o &El e 8
g1 B Hor Aol A @ I gEEHE
T 2| 5w AN sEE w w
Y I A IegEn aer e Rt el

IS Ferpla Srar & ear #
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Q131 gwar &1 gfas & 3R ydes &1 dar
I 87
V(A)ﬁaaﬂmﬁaﬁn
(B) 2¢ 27 arel
(C) ATTEE 3 arell
(D) drFHeTs

Q132 @1 ATd A T B AT HA HEI?
(A) T8 | M & 41e
(B) 39 @ dig
(©) frdlt & g1 @ a”
V(D)é@ﬁa‘»zna

Q133 =T & Wl Fat e Tar 87
JA) I B BRI
(B) WOIl & &RV
(C) Reafd & @t
(D) uRfEfd & @R

Q134 Tva & fr el ¥ anrh, e &rd?
(A) frerd '
(B) &t
JO e et
(D) arTarit

QI35 afigpd T B \GHFEN T DT A
Jugata
(A) =i
o) T
(C) Seor@+ry
(D) Henfaat

LIVS6d

HTBATEA

Q136 fr=ifaifam wea #, AR fwedl % 4, 99
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